
 

ZENNER USA 
15280 Addison Rd #240, Addison, TX 75001  
Phone (972) 386-6611, Fax (972) 386-1814 
www.zennerusa.com 

  
  

Rev. A 
Page 1 of 4 

ZENNER Compound Meters 
Model PMC03 (Size 3”)  

PMC03 Compound Meter Parts List 

No. Part Number Description Qty 

1 ZTM03**-XB 3" Zenner Turbine Meter, Cast Iron 1 

2 PMN03**-XBBB 3/4"SL Zenner Multi-jet Meter 1 

3 ZSB03-TAP 3" Zenner Bronze Strainer 1 

4 PMC03-SPL-P 3" PMC03 Spool 1 

5 VCWA-030-P 3" Wafer Check Valve 1 

6 PA-531 Gasket, Flange, 3 x 1/8, Round 3 

7 62CNFHZ Nut Hex Finish Plated 5/8-11 14 

8 AN960-C1016 Washer Flat SS .640 ID x 1.188 16 

9 62C0325RODS All-Thread Rod SS 5/8-11 x 3-1/4 2 

10 62C0675RODS All-Thread Rod SS 5/8-11 x 6-3/4 4 

11 62C250HMB2Z Bolt Hex Plated 5/8-11 x 2-1/2 2 

PMC03 Compound Meter Parts List (Cont.) 

No. Part Number Description Qty 

12 759T04LF  3/4" Ball Valve, Bronze, Thread 2 

13-1 PA-501 Meter Coupling, 3/4", Brass 2 

13-2 PA-521-R 3/4" Coupling Gasket, Rubber 2 

14 T480LF-12 Check Valve, 3/4", NIBCO, LF 1 

15 B-PL08LF Plug Bronze 2" MIP Cored 1 

16 B-L9004LF Pipe 90 thd 3/4" Bronze 2 

17 NBR04CL Pipe Nipple Close 3/4" Bronze 2 

18 NBR042 Pipe Nipple 3/4" x 2" Bronze 1 

19 NBR04212 Pipe Nipple 3/4" x 2-1/2" Bronze 1 

20 NBR043 Pipe Nipple 3/4" x 3" Bronze 1 

        



 

ZENNER USA 
15280 Addison Rd #240, Addison, TX 75001  
Phone (972) 386-6611, Fax (972) 386-1814 
www.zennerusa.com 

  
  

Rev. A 
Page 2 of 4 

ZENNER Compound Meters 
Model PMC04 (Size 4”)  

PMC04 Compound Meter Parts List 

No. Part Number Description Qty 

1 ZTM04**-XB 4" Zenner Turbine Meter, Cast Iron 1 

2 PMN07**-XBBB 1" Zenner Multi-jet Meter 1 

3 ZSB04-TAP 4" Zenner Bronze Strainer 1 

4 PMC04-SPL-P 4" PMC04 Spool 1 

5 VCWA-040-P 4" Wafer Check Valve 1 

6 PA-532 Gasket, Flange, 4 x 1/8, Round 3 

7 62CNFHZ Nut Hex Finish Plated 5/8-11 26 

8 AN960-C1016 Washer Flat SS .640 ID x 1.188 32 

9 62C0325RODS All-Thread Rod SS 5/8-11 x 3-1/4 2 

10 62C0800RODS All-Thread Rod SS 5/8-11 x 8 8 

PMC04 Compound Meter Parts List (Cont.) 

No. Part Number Description Qty 

11 62C300HMB2Z Bolt Hex Plated 5/8-11 x 3 6 

12 759T05LF  1" Ball Valve, Bronze, Thread 2 

13-1 PA-502 Meter Coupling, 1", Bronze 2 

13-2 PA-523-R 1" Coupling Gasket, Rubber 2 

14 T480LF-16 Check Valve, 1", NIBCO 1 

15 B-PL08LF Plug Bronze 2" MIP Cored 1 

16 B-L9005LF Pipe 90 thd 1" Bronze 2 

17 NBR05CL Pipe Nipple Close 1" Bronze 3 

18 NBR052 Pipe Nipple 1" x 2" Bronze 1 

19 NBR05312 Pipe Nipple 1" x 3-1/2" Bronze 1 



 

ZENNER USA 
15280 Addison Rd #240, Addison, TX 75001  
Phone (972) 386-6611, Fax (972) 386-1814 
www.zennerusa.com 

  
  

Rev. A 
Page 3 of 4 

ZENNER Compound Meters 
Model PMC06 (Size 6”)  

PMC06 Compound Meter Parts List 

No. Part Number Description Qty 

1 ZTM06**-XB 6" Zenner Turbine Meter, Cast Iron 1 

2 PMN09**-XBBB 1-1/2" Zenner Multi-jet Meter 1 

3 ZSB06-TAP 6" Zenner Bronze Strainer 1 

4 PMC06-SPL-P 6" PMC06 Spool 1 

5 VCWA-060-P 6" Wafer Check Valve 1 

6 PA-534 Gasket, Flange, 6 x 1/8, Round 3 

7 75CNFHZ Nut Hex Finish Plated 3/4-10 26 

8 AN960-C1216 Washer Flat SS .765 ID x 1.312 32 

9 75C0350RODS All-Thread Rod SS 3/4-10 x 3-1/2 2 

10 75C0950RODS All-Thread Rod SS 3/4-10 x 9-1/2 8 

11 75C300HMB2Z Bolt Hex Plated 3/4-10 x 3.00 6 

12 759T07LF  1-1/2" Ball Valve, Bronze, Thread 2 

PMC06 Compound Meter Parts List (Cont.) 

No. Part Number Description Qty 

13 T480LF-24 Check Valve, 1-1/2", NIBCO 1 

14 PA-508-2 Flange Kit, 1-1/2", Bronze, w/NBG 1 

14A FL-OBR-15-THD Flange, Oval, 1-1/2", Bronze, Thd 2 

14B PA-526-125 Gasket Flange 1-1/2" x 1/8" Drop-in 2 

14C 62C250HMB2Z Bolt Hex Plated 5/8-11 x 2.5 4 

14D 62CNFHZ Nut Hex Finish Plated 5/8-11 4 

15 AN960-C1016 Washer Flat SS .640 ID x 1.188 8 

16 B-PL10LF Plug Bronze 3" MIP Cored  1 

17 B-L9007LF Pipe 90 thd 1-1/2" Bronze 2 

18 NBR07CL Pipe Nipple Close 1-1/2" Bronze 3 

19 NBR073 Pipe Nipple 1-1/2" x 3" Bronze 3 

20 NBR07312 Pipe Nipple 1-1/2" x 3-1/2" Bronze 1 



 

ZENNER USA 
15280 Addison Rd #240, Addison, TX 75001  
Phone (972) 386-6611, Fax (972) 386-1814 
www.zennerusa.com 

  
  

Rev. A 
Page 4 of 4 

ZENNER Compound Meters 
Model PMC08 (Size 8”)  

PMC08 Compound Meter Parts List 

No. Part Number Description Qty 

1 ZTM08**-XB 8" Zenner Turbine Meter, Cast Iron 1 

2 PMN12**-XBBB 2" Zenner Multi-jet Meter 1 

3 ZSB08-TAP 8" Zenner Bronze Strainer 1 

4 PMC08-SPL-P 8" PMC08 Spool 1 

5 VCWA-080-P 8" Wafer Check Valve 1 

6 PA-536 Gasket, Flange, 8 x 1/8, Round 3 

7 75CNFHZ Nut Hex Finish Plated 3/4-10 26 

8 AN960-C1216 Washer Flat SS .765 ID x 1.312 32 

9 75C0400RODS All-Thread Rod SS 3/4-10 x 4 2 

10 75C1100RODS All-Thread Rod SS 3/4-10 x 11 8 

11 75C350HMB2Z Bolt Hex Plated 3/4-10 x 3.50 6 

12 759T08LF  2" Ball Valve, Bronze, Thread 2 

13 T480LF-32 Check Valve, 2" 1 

PMC08 Compound Meter Parts List (Cont.) 

No. Part Number Description Qty 

14 PA-508-2 Flange Kit, 2", Bronze, w/NBG 1 

14A FL-OBR-20-THD Flange, Oval, 2", Bronze, Thd 2 

14B PA-528-125 Gasket Oval 2" x 1/8" Drop-in 2 

14C 62C250HMB2Z Bolt Hex Plated 5/8-11 x 2.5 4 

14D 62CNFHZ Nut Hex Finish Plated 5/8-11 4 

15 AN960-C1016 Washer Flat SS .640 ID x 1.188 8 

16 B-PL10LF Plug Bronze 3" MIP Cored 1 

17 B-L9008LF Pipe 90 thd 2" Bronze 2 

18 NBR08CL Pipe Nipple 2" Close Bronze 1 

19 NBR083 Pipe Nipple 2" x 3" Bronze 3 

20 NBR084 Pipe Nipple 2" x 4" Bronze 1 

21 NBR085 Pipe Nipple 2" x 5" Bronze 1 

22 NBR08512 Pipe Nipple 2" x 5-1/2" Bronze 1 


